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OBJECTIVE TYPE QUESTIONS

A cotter joml is used 1o transmit

{a) axial tensile hoad only i uxial compressive Joad only

(e} combined axinl and twisting joads (f) axial tensile of compressive [
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9. A steel with 0.8 per cent carbon is known as
(@) eutectoid steel (h)
(¢) hypoeutecioid sieel ()

10, 18/8 steel containg

(a) 18 per cent nickel and 8 per cent chromium

(b) 18 per cent chromium and 8 per cent nickel

() 18 per cent nickel and 8 per cent vanadium

(d) 18 per cent vanadium and § per cent nickel
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Simple Stresses in Machine Parts = 119

The modulus of elasticity for mild sieel is approximately equal to
&) ﬂ[] kN/mm? (h) 100 kN/mm?
(e) 110 kN/mm’ (d) 210 kN/mm?
Uhen the material is loaded within elastic limit, then the stress | NU—-— (o strain.
equal (b) directly proportional  (¢) inversely proportional
n a hole of diameter ‘d’ is punched in a metal of thickness "1, then the force required to punch a
is cqual (0
drt, (b) mdrx,

(©) ;‘xd‘ B : (d) *z Xl 1.5
1, = Ultimate %.r strength of the material of the plate.

of the xﬂﬁmmm 1o the design stress is known as

astic limit ¢ (b) strain

ctor of safety - . (d) bulk modulus
fiactor of safety for steel and for steady load is

(b) 4

(d) 8

(b) elastic limit stress

\ (d) ultimate stress

ses because of the existence of

(b) temperature gradient

(d) specific heat

of contact between two members is known as
(b) bending stress

{d) shear stress

" .;(b) 0.25 10 0.33
(d) 0.38to 045
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4. In transverse fillet welded joint.
(@) 0.5 x Throat of weld
(¢) 2 x Throat of weld

5. The transverse fillet welded join
(a) tensile strength
(c) bending strength

6. The parallel fillet welded joint is designed for
(a) tensile strength
(¢) bending strength

7. The size of the weld in butt welded joint is equal to

(a) 0.5 x Throat of weld
(¢) /2 x Throat of weld

8. A double fillet welded joint with panlle] fillet weld of length / and le
P. Assuming uniform stress distribution, theshearsmsmthewaldh
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prove the relation: M = oly = BIR

we M = Hending moment: /= Mo of aiith:
where M = Bending \ ment of inertia: o = ’
the neutral axis; E = Young's modulus: and K = § :ﬁmﬂl fibrr & ¢ distance + foom
Write the relations used for Maximum stress wh

- l } y il o ¢ 3
' Wmi\-c stresses along with *h““""l siresses. machune e, B wityecied v wnsile o com

Write ghort note on maximum d“ Sifess M', veTSes
" Distinguish clearly between direct stress and hending
; What is meant by cccentric loading and eccentricity?

Oblain a relation for the m.l'lim“ and
when it is subjected w0 .

Elress

mm.hhﬂdlwm.

(@) directly proportional 1o
The neutral axis of a beam is subjected 10
{a) zero stress

(a) ﬂ:ehyusarcmbjﬂctedlﬂﬂ:h_hﬁu

(b) the layers are subjected o tension o) hhmuﬂ'p:ﬂ-_

(d) the layers do not undergo amy strain

- The bending stress in a curved beam is

(@) zero at the centroidal axis 5) zom at the poms ofher fhan comrmdsl 2

(€) maximum a1 the neutral axis d) oomeof fhe gwne
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(c) inside fibre (d) omside fihre
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soefficient of fluctuation of ener

[ E = Mean kinetic energy

| AE= Maximum fluctuation of ene

(o) AE=E/Cs .
| ﬁ AE=ExCg

@mmmum fluctuation of ene
! ﬁm the centrifugal force acting
(a) fensile stress
shear stress
he tensile stress in the flywhee
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" - ive type flange C(HIPH“E and indicate there on its | H,_ :

10. :.‘:., flexible couplings and what are their applications ? |i..=-_;1_‘ 4
examples and sketches.

11. Write short note on universal coupling.
12 lhumuﬁuﬂjdnuonmumdwlnnﬂmhw

OBJECTIVE TYPE QUEST.

. on a rectangular sunk key is 2
l t!:?:lﬁ (b) 1in32
(c) 1ind8 (d) 1in100
2. The usual proportion for the width of key is -
(a) 48 (b) dl6
©.- ) di2
where d = Diameter of shaft. 4
b 8 “hlﬂm}ﬂ'mmgpieccisru]uhedmsﬁdgﬂmsﬂ#::'
(@) rectangular (b) square
4. A key made from a cylindrical disc having segmental cross-s Wer
(a) feather key
(¢) woodruff key

5. A feather key is generally
(@) oose in shaft and tight in hub
(c) tight in both shaft and hub

= The type of stresses developed in the key is/are

. T e e o
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@ lessithan 50%
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1. Which of the following screw thread is adopted for power tr nsmis
(@) Acme threads (b) Squar
(¢) Buttress threads (d) Multiple
2. Multiple threads are used to secure '
(a) low efficiency b) o
(c) high load lifting capacity (@ higt
3. Screws used for power transmission should have
(a) low efficiency ﬂr"' s L

4, ﬂ'udmmﬂ:clnadanglemdlb.thcanglcofﬁicﬁm;_dﬂ
b
tan (@ - ¢)

@ Tma .
M i) l|I i
0 me b
5. A screw jack has square 2 riuy G
i | the lead th
Ma) U >tan o .
@ p=cota

(©) equal to 50% (b

A screw is said 1o be over hauling screw, if it e
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' fe)  pieh dinmeter
4. The milway earriage coupling have
() wquare threads
() knuckle threads
& The square threads are usially found on
() spindles of beneh vices
(¢) feed mechanism of machine tooly

6. A locking device in which the bottom cylindrieal portion s recessed W regajy,

et serew, ix called
(a) castle nut
(€) ring nut
7. Which one is not o positive locking device
(@) Spring washer
(¢) Tongued washer
8. The washer is generally specified by its
(@) outer dinmeter
(e) thickness

9. Alocking device extensively used in automobile industry is a

@) jam nut
(O serewnul

(@) the pitch of the thread i
=0 15 24 mm and depth is 2
(h) the cross-sectional area of the . rznm

}g the nominal diameter of bolt is 24 mpm

() pitch

(h) acme lhmd.’- '
() buttrens thready
¥

e

(h) railway carrlage
(d) werew cutting Jahy

(h)  jam nui

(d) wcrew nut
T

(h) Cotter pin

(h) hole diameter

(d) mean diameter
(h) castle put
(d) ring nut

T3
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y have contact ol the Towest pojp ufbnﬂnl
{;:J move towards right of the hearin i
| } move |{,wilrl.f.‘r lef ol the Mlﬂﬂl " "m o ml
(¢ mlkll‘l Commilang

Metal
) move towards right of (he bearing Miking o 0 mgtg) Contagy

" & Bearing, (fye It will

The property of a bearing materiy) which hgy H‘"’:E':wm
cm_,“""hnul ﬂcﬂ'ﬂﬂs the "“Mﬂufﬂ.mmhm WMMH Orduﬂ.”“
(a) bondability e
:] comformability cﬂ; r'ﬂwmr
Teflon 18 used for bearingy because of Bue Strength
fficient of friction

o v 5 betier heat dinipgion
(¢) smaller space consideration W o e

uuhudngh:ubjncwdmlupﬂm«-
m should be ............., the Mn‘m MNWMHWMHu
(a) 5 tmes (5) 10 times
(c) 15 times (d) 20 timeg
Wumlcngmnfmcjnumﬂilequnmh%dhi S b T
(a) short bearing (5)  long bearing
(¢) medium bearing

e L () square bearing
If Z = Absolute viscosity of ‘*!i.ﬂlllh;_ N o bty s .
Bearing pressure in N/mm?, then ﬂ'w _I:I' _. V= Speed E Journal in rp.m p
ZN

C ) %;.‘E
z N
© SN ) -Lz..
In thrust bearings, the load acts
(a) along the axis of rotation (b) parallel 1o the axis of soration
(c) perpendicular to the axis of rotation (d) in any direction
- == E
A e
L@

6. (a)
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() Dimensions of the key for securing the pulley on

(e) Size of the arms six in number. g

The section of the arms may be taken as elliptical,

Mmmyhmmw rposes

Sftandkey: Tension-80MPa
Shear - SO MPa

Belt : Tension - 2.5 MPa

Pulley rim : Tension - 4.5 MPa L

Pulleyarms:  Tension - 5 MPa: I' '
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OBJECTIVE TYPE QUESTIONS

I The rolling contact bearings are known as

(@) thick lubricated bearings (k) P'ﬂ-'*"‘f'_': t'."’-’ﬂ-"'"ﬂsl
(¢)  thin lubricated bearings (d) nntirrrctron I_:rcanngs
2. The bearings of medium series have capacity .......... over the light series.
(@) 101w 20% (b) 20 o 30%
() 30 (o 40% (d) 4010 50% ‘
. The bearings of heavy series have capacity .......... over the medium series,
(a) 10 to0 20% (b) 20 10 30%
() 300 40% (d) 40 to 50%
4. The ball bearings are usually made from
(@) low carbon steel
(6)  medium carbon steel
(¢)  high speed sicel
(d)  chrome nickel steel
5.

The tapered roller bearings can take

(@) radial load only

(b) axial load only

(¢)  both radial and axial Joads

(d) none of the above
The piston pin bearings in heavy duty diesel
engines are

(a) needle roller bearings

(b) pered roller bearings

(¢) spherical roller bearings

(d) cylindrical roller bearings
Which of the following is antifriction bearing?
(@) journal bearin
(b) pedestal bcﬂrifg Ba bearng
(€)  collar bearing
(d) needle bearing

Ball and roller bearings in comparison 1o sliding bearings have
(@) more accuracy in alignment

.:F.

=
.

2

: (6)  small overal] dimensions
(€) low Starting and running friction (d) all of these
9 A bcm:ng is designated by the number 405, |y means that a bearing is of
(a)  light series with bore of 5 mm (b)  medium series with bore of 15 mm
(€) heavy series with bore of 25 mm (d) light series with width of 20 mm
10. " The listed life of 4 rolling bearing, in a catalogue, is the
(@)  minimum expected life
(b)  maxi
(€)  average life (d) nn;xe I::;un th::epﬂﬂﬂd -
ANSWERS
. o
L. (d) 2. (c) 3, & 4. (d) 5 (&
6. (a) 7. (d) 8 (d) ' '

9. (c) 10. (a)
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i) W
he hacklash for spur gears depends wpon
(u)  module

W = x No. of ety

» lime
(3 woth profile dy :Hx’
The contact ratio for geans is ,
(d) B (5) less than ome
() @reater than one () none of (ese
Ifﬂgﬂﬂ“ﬂd“ﬁﬂdﬂ'“"“‘““." L s e sple
(g) Increases (B} decreases
(¢) remains unchanged () mone of these
The form factor of a spur gear toth depends upon
(a) circular pitch only (h) pressure angle ony
(¢) number of teeth and circular pitch (d) mumber of weth and the sysiem of weth
Lewis equation in spur gears is used (o find the
(a) tensile stress in bending (b) shear stress
() compressive stress in bending (d) famvgue sress
The minimum number of teeth on the pinion in order 10 svoud imterference for 207 sub system =
(a) 12 (b) 14
c) 18 (d) 32
. The allowable static stress for sieel gears is approximasely . of the ulimase wnsile stress
{a) one-fourth (b) ome-thard
(c) one-half (d) double
Lewis equation in spur gears is applied
(a) only to the pinion (b) oaly © the gear
(c) to stronger of the pinion or gear (e 1o weaker of the pumon or gear
. The static tooth load should be ... the dynasmic load.
(@) less than (b) greater than
(c) equal 1o
e e
L (k) F T e B
1L (o) BB B K =&
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OBJECTIVE TYPE QUESTIONS

\ ke commwoniy used im ratbway trains is
@ shoe brake (&)  band brake

and amd block brake () internal expanding brake

B A ke mmoaly wsed in mowe cars is
@ shoe brake

(&) band brake
g and block brake (@ internal expanding brake

- TiEnal wad for brake hoang should have ... coefficient of friction.

o low (&) high
" Whew e fictional force helps to apply the brake, then the brake is said 1o be

& seif <meryinng brake (&) self-locking brake

T 4 gy s, e width of the band for a drum chamweter groater than | m, shoukd o excend

i & | T (&) 200 mm

N mm @ 300 mm

ANSWERS
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is essentially a

positive action chutch

1. Apw cluich

(a)
(c) friction chuch i
3 “The material used for lining of friction surfaces of u el h oy

(a) low .rt_ i,
mwmmpdhyldimchuchlsgivﬂbf. -
(@) T=025uWR h 1w

{c) T=075LWR ‘
where w = Axial force with which the fri '

i = Coefficient of friction ; and
R = Mean radius of friction surfaces,
4. In case of a multiple disc cluich, if ny are the number of dis

mumiber of the discs on the driven shaft, then the mumber of ¢
(@) n +n, S
(€) my+ny+1 o

S. The cone clitches have become obsolete ec e
S cooe igles / _- o

- {c) difficulty in disengaging . '.'-" l
(g j‘") W_sin o e - -
(€) W, (sina+025 i cos o) .
A2 W, = Normal force acting on '
 p=Cocficieniof ction,

7. Inacentrifugal e
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QUESTIONS

: hﬁhﬂpﬂw'hw“ﬂ“
“q-mb‘ﬂﬁfﬂﬂl-“-
) Cane & = (@ Pach angle. (s m*mn*
4 = w.w-#utm*d
5 m-n-—mm-lwﬂ" Ty .

‘t—*hhw#uﬂh“n

 OBJECTIVE TYPE Q

I

& ogit mygic. T Ty oz owT -

o el el g oy '“_"-1
L T face mugle of 3 Sevel g & cgunil v B

o pmS angle - iiemdun mgie @ pinc

& Qica mgtE - defendum mute ) pinch

3. The mos angle of 2 bevef goar o cquall o -+
i ll'lt-llr:—-n_h-.gp & .- .

a In-uh--u.ﬁ—un-i-q.
- &/L

& I-Zp1

‘“m-




